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H1.1
(1) 3a+2a+6a=(3+2+6)a=|1la|

(2) 2a+4a+3x2a+4ax2=(2+4+6+8)a=]20a]

(3) 13b-8b+5b=(13-8+5)b =
4) 7x—x—6x:(7—1—6)x:0x:@

H1.2

Tx+23x+26x+44x =(7+23+26+44)x =100x
EELOLENHEDOT, ZhiZ,

1 x=79 (2) x=314 B =«
ENEFNRALT

_ 647
700

(1) 100x79=|7900
(2) 100x3.14 =[314]

@) 100x847 _| 647
700 | 7

H1.3

(1) 7x+3y+x+8y=|8x+1ly|
2) 2+3a+4+5a=[8a+6]
(3) 3.75x+3.66y-1.75x+1.34y =| 22+ 5y |

6 4 6 4 6 6 4 4

(4) llx_ly_gx+§y:(1—7—§jx+(g—le}: 2x+3y



H1.4

(H») 4a+3b+6a+2b=|10a+5b

(L) (B) DRERIZ,
(1) a=59b=42 (2) a=123b=642 (3) a=876.6,b=246.8
EXNTNRALT

(1) 10a+5b=10x59+5x4.2=59+21=[80]
(2) 10a+5b=10x12.3+5x64.2=123+321=|444 |
(3) 10a+5b=10x876.6+5x 246.8 = 8766 +1234 = [ 10000



